

Dec. 9

Date 12/9/2017

Type of event-- Snow 4-6 inches

Time Called Out-- 3pm Saturday

Time Event Finished-- 6am Sunday

	Unit cost	Cost
Total Salt--Tons	88.9	\$ 59.70 \$ 5,307.33
Total Calc.--Gal.	444	\$ 1.45 \$ 643.80
Total Sand Salt-Yds	121	\$ 13.75 \$ 1,663.75

Fuel- Diesel Gal.	691	\$ 2.18	\$ 1,506.38
Fuel Gas Gal.	39	\$ 1.95	\$ 76.05

Total Miles 2449

Equipment Repairs-- \$ 740.26

Cutting Edges

Labor,Over Time--	86	\$ 29.30	\$ 2,519.80
Highway,Mechanics &			\$ 12,457.37
Buildings & Grounds			

Event Notes Crew called 3pm on Saturday ran sa

Crew called 3pm on Saturday ran salt on main roads. Very slippery roads as snow

had melted than cough and froze. Plow and sand all roads as needed. Snow ending

around 1-2am resalt main roads clean up and sand sides done 6am.

Dec. 12

Date 12/12/2017

Type of event-- 3" snow freezing rain

Time Called Out-- 5am

Time Event Finished-- 12am midnight

	Unit	cost	Cost
Total Salt--Tons	98.6	\$ 59.70	\$ 5,886.42
Total Calc.--Gal.	493	\$ 1.45	\$ 714.85
Total Sand Salt-Yds	271	\$ 13.75	\$ 3,726.25

Fuel- Diesel Gal.	808	\$ 2.18	\$ 1,761.44
Fuel Gas Gal.	78	\$ 1.95	\$ 152.10

Total Miles 3022

Equipment Repairs-- \$ 197.74

Cutting Edges 598.27

Labor,Over Time--	156.5	\$ 29.30	\$ 4,585.45
Highway,Mechanics & Buildings & Grounds		\$ 17,622.52	Total

Event Notes Crew in at 5am scrape and salt main roads for commute. Scrape and sand all roads through the day change to freezing rain late afternoon. Scrape and sand mains for commute. Clean up and salt 9pm sand sides done midnight.

Dec. 17

Date 12/16/2017

Type of event-- snow covered roads

Time Called Out-- 12:30am

Time Event Finished-- 3:30am

	Unit cost	Cost	
Total Salt--Tons	15.49	\$ 59.70	\$ 924.75

Total Calc.--Gal. \$ 1.45 \$ -

Total Sand Salt-Yds 36 \$ 13.75 \$ 495.00

Fuel- Diesel Gal.	129	\$ 2.18	\$ 281.22
Fuel Gas Gal.		\$ 1.95	\$ -

Total Miles 240

Equipment Repairs--

Cutting Edges

Labor,Over Time--	30.5	\$ 29.30	\$ 893.65	
Highway, Mechanics &			\$2,594.62	Total
Buildings & Grounds				

Event Notes Light snow covered roads. Crew in at 12:30am to run light salt on main roads and spot sand hills on side roads. Done 3:30am.

Dec. 18-19

Date 12/18-19/2017

Type of event-- Snow 4"

Time Called Out-- 1pm

Time Event Finished-- 3:30pm

	Unit cost	Cost
Total Salt--Tons	71.1	\$ 59.70 \$ 4,244.67

Total Calc.--Gal.	0	\$ 1.45 \$ -
-------------------	---	--------------

Total Sand Salt-Yds	197	\$ 13.75 \$ 2,708.75
---------------------	-----	----------------------

Fuel- Diesel Gal.	667	\$ 2.18 \$ 1,454.06
Fuel Gas Gal.	57	\$ 1.95 \$ 111.15

Total Miles	2643	
-------------	------	--

Equipment Repairs--		\$ 2,863.52
---------------------	--	-------------

Cutting Edges		962.01
---------------	--	--------

Labor,Over Time--	143.5	\$ 29.30 \$ 4,204.55
Highway,Mechanics &		\$16,548.71
Buildings & Grounds		

Total

Event Notes Light snow during the day, crew salted main roads 1pm scrape and sand as needed

till 11pm sent crew home back in at 3am to salt mains and clean up for commute.All

done 3:30pm.

Dec. 22-23

Date Dec 22,23

Type of event-- Snow 4-6" to sleet, freezing rain, rain

Time Called Out-- Friday 7am / Sat. 5am

Time Event Finished-- Friday 9pm / Sat. 10pm

	Unit cost	Cost	
Total Salt--Tons	220	\$ 59.70	\$ 13,134.00

Total Calc.--Gal. 1102 \$ 1.45 \$ 1,597.90

Total Sand Salt-Yds 481 \$ 13.75 \$ 6,613.75

Fuel- Diesel Gal. 1241 \$ 2.18 \$ 2,705.38
 Fuel Gas Gal. 54 \$ 1.95 \$ 105.30

Total Miles 3848

Equipment Repairs--

Cutting Edges

Labor, Over Time-- 376 \$ 29.30 \$ 11,016.80

Highway, Mechanics & Buildings & Grounds \$ 35,173.13 Total

Event Notes Crew out at 11am to salt mains and plow sides. Scrape and sand as needed through the day.

Light snow over night crew went home at 9pm back in at 5am to scrape and salt main roads scrape and sand sides. Sleet and freezing rain starting mid morning result mains, sanding sides, continue treating as needed precip ending mid late afternoon scrape and salt mains scrape and sand sides done 10pm

Dec. 25

Date Dec. 25 Christmas

Type of event-- Snow10"- 12"

Time Called Out-- 6am

Time Event Finished-- 7:30pm

	Unit cost	Cost
Total Salt--Tons	99.1	\$ 59.70 \$ 5,916.27

Total Calc.--Gal.	489	\$ 1.45 \$ 709.05
-------------------	-----	-------------------

Total Sand Salt-Yds	186	\$ 13.75 \$ 2,557.50
---------------------	-----	----------------------

Fuel- Diesel Gal.	740.6	\$ 2.18 \$ 1,614.51
Fuel Gas Gal.	51	\$ 1.95 \$ 99.45

Total Miles	2092	
-------------	------	--

Equipment Repairs--		\$ 1,928.84
---------------------	--	-------------

Cutting Edges		
---------------	--	--

Labor,Over Time--	220	\$ 29.30 \$ 6,446.00
-------------------	-----	----------------------

Highway,Mechanics & Buildings & Grounds		\$ 19,271.62
---	--	--------------

Total

Event Notes Heavy snow 6-12 inches predicted. Crew called in 6am to scrape and salt mains, scrape

and sand all roads through the day as needed. Snow ending 2:30pm clean up all roads salt

mains and sand sides. Done 7:30pm

Dec.29

Date Dec. 29

Type of event-- light snow covered roads

Time Called Out-- 2:30pm

Time Event Finished-- 5pm

	Unit cost	Cost
Total Salt--Tons	22 \$ 59.70	\$ 1,313.40

Total Calc.--Gal.	75 \$ 1.45	\$ 108.75
-------------------	------------	-----------

Total Sand Salt-Yds	\$ 13.75	\$ -
---------------------	----------	------

Fuel- Diesel Gal.	45 \$ 2.18	\$ 98.10
-------------------	------------	----------

Fuel Gas Gal.	\$ 1.95	\$ -
---------------	---------	------

Total Miles	182	
-------------	-----	--

Equipment Repairs--

Cutting Edges

Labor,Over Time--	10.5 \$ 29.30	\$ 307.65
-------------------	---------------	-----------

Highway,Mechanics & Buildings & Grounds	\$ 1,827.90	Total
---	-------------	-------

Event Notes Light snow in the afternoon covered roads, crew out at 2:30 pm to run light snow for commute.

Done 5pm